17A

1)

2)

5)

10)

11)

12)

156 jpr 1.

3 Ty 13 ft.
8 lbs. 16 oz.

3 T 128 oz
7 et im

1 T00gm O/

154"  Lim 1ft. X1ft _15 _
1 1 120 12 14
104 ft.2

25gat. 4gs. 2 pth

X —— X = A
1 7 Tar 200 pts

10 1pat 5280 ft. 5280 ft. -
1 1 1 7. 1 pi”

278,784,000 ft.2
13.67. 28¢g

—_— X — =

1 e 364 g
9 liters 1.06 qt. _
1 * T3 = 9.54 qgts.
350 caT 5 A4in. = 140in.
1 1 car
17 yas. 9m
B e e %
1 1 e 15.3m

4 ker .62 pat. 5280 ft. _

1 Tk ke 13,094 .4 ft.

50 gat. 4 gis. 951 :

X =
7 Tgat Toe 190 liters

17B
1) 7urmt N 5280.ft. = 36,960 ft.
1 1mir
2) 6342 |bs. 1ton
I 3000 ba. 3.171 tons
3) 7040 yés. 3t 1 mi. -
X =
1 Tya  sagof oM
4) 8524 147 12in. _12in. -
1 1 14 14
122,688 in.2
5) 95km _ 1kat 1000 m 1000 m _
1 1 1 ket Tk
95,000,000 m2
6) 58087, 1K9 _ gguq
1 10009~
7) 87ipr 1 yet. 9m
1 X e X T = 2175m
8) 106 = 1.6km = 169.6 km
1 1At
9) 45keg 2.2 lbs. 16 oz. -
7 X T b 1,584 oz.
10) 9lbs. A5kg 1000g _
3 X T Ty 4,050 g
9 lbs. 16 oz 28 ¢

7 X T X Toe =4,032 g

(differences due to rounding of metric/English
equivalents.)

11) 3liters 1.06gs.  _2pt.

— T T - 636 pis.
\
12) 1dkg _ 2.21bs.
2208 _ 308 Ibs.
s RS =308 bs

17C

3Trs  20001be, 16 oz
1 =
) X e X e - 96/000 oz.
24pis, . T 1 gal.
2 =
) X D 3gal.
59dg, Ty, 3ft 3.
3 =
VxS T Ty T 4 12
1yd. 1yd _ 1yd
4 TR TR TR 1y y Yo o
) 2141\ T&‘ T TR IR TR
2
o 3
57 vd-
5 4™ _TmL 1760 yds. 1760 yds. _
1 1 TR e,
12,390,400 yd.2
10mi_ 1.6km
g) M, 1OXM _
) T 16 km
25%9% 28g
7) 22 0% =
) T = 700
5Ws.  .45kg
8 pomc
) — % = 2.25 kg
20 1.1 yds.
9) =M% =
) 1“\ : 22 yds.
12 1.06 qt.
10 »
) e Y 12.72 gts.
1) Ho 2 O 16
HO 18 HxO 18
Ho 2
0 16
129 _Mo _ 16
234 18
234.16
M = =
0% —— =208

14)

15

=

16)

17)

18)

pecan
total

pecan

1 2Y
X 3
1

pecan

36

36 x
9

2Y+3A=>1

&

9

7
=28

1

Lol

X

=
2Y 3A
3 T3
2Y+3A)=>
3
58 1
B B
58 -1
-
=)
AB
5B -1
(]
o
=
=
=}
w
=
b
=
o



17D

65Vds, 3t _ 12in. ,

1 =

) —X e X — /s 2,340 in.
10.6™m.  1km

o) 2N N o

) —— X5 o, P 1Pokm

SO‘R\X 18 % 1 yd. % 1 yd.

= 2
: 3 X 3w = 559vd

1860‘:& hn\( ﬁN1yd 1 yd. X1yd

.04 yd.3
5) i S x L/ AP L.
1 1 100%TR_ ~ 100 T
.0004 m2
4588, 2.5cm
6) DOy 2207 o
) T X N 112.5cm
7O, 951 _
7) T X L =6.65 |
8) 20?“"‘ X 1“;:; = 80in.
3R 62m .
9 =
) T X TR 1.86 mi.
1.86 i, _ 52801t _
T X D =9,820.8 ft
axg _ 2.21bs.
10) 2N =
) e K TR 19.8 Ibs.
1) H 1 Cl _ 35
HCI 36  HCI 36
H 1
Cl 35

36?& 36T 361&_

12)

15)

16)

19)

20)

Mc 35
612 ~ 36
MC_612x 35 505
=73 P9
My 1
612 ~ 36
612 x 1 i
=3 9
5 _ 2 Dr 5
T 7 T 7
s 2
Dr 5

given sunny, looking for dreary, so
S 2

o - 5
s 2 32 _ 2
Dr 5 " Dr 5
5x32=2Dr

Dr = 80 dreary days

Ba

A=—"

b

Ba

A e

b

a_Ab

B
O, _ 16+16 _ 32

COp, 12+16+16 44

C__ 12 o730
COp, 44 ='77

17E

1) 2B 12w

T TR
2) .Q%QX 1000 m
1 1

= 336in.

= 280 m

1 mi. 1 mi.

g BOOY, ¥

.0026 mi.2

X17760 Yoo 7,760y

m 1‘KQ 1M 1000 m 1000m 1000m

3.9x1010 m3

T N

5) 4.8mx h - X1000 mm . 1000 mm _
1 1 b 1T
48x 106 mm?2
12y, 9m
6) = Y& =
) i TR 10.8m
10,000% 1ML _ 1.6km
7 Z -
! = X 5280w TTwy - S03km
s 45k 1000g
8 -
) T %~ The 1350 g
36" 11yds 31t
9 =
) =K wd\ 118.8 ft.
340%, .035o0z.
10) 2223 =
) X 5 11.9 oz.
1) C 12 Hey 4
CHa 16 CHs 16
C 2
He ~— 4

199 _Mc __12

208 16

Mo 12X 208 _
BT S

18) ———=_ "

M o me =

15) given not decorated, looking for
decorated, so

D _ 7
ND~ 5
1) 2 __ Db __ 7
ND 35 5
D= ——7);_) 35 _ 49 decorated
17) — =X
A_
18) — = A-B
X
Y A--B
X
A-_Y_ _pg
X
(6] 16 16
= —— = —— = 89%
R o i S TR °
Ho 2
20 = =119
) a0 g =11%

341-AL} suolnjog



